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[Question ID = 1705][Question Description = Q02_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 6817]
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4. 4 [Option ID = 6820]
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[Question ID = 1706][Question Description = Q03_Konkani_SHAAN_NOV20_Shift1]
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[Question ID = 1709][Question Description = Q06_Konkani_SHAAN_NOV20_Shift1]
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4. 4 [Option ID = 6836]
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[Question ID = 1711][Question Description = Q08_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 6841]
2. 2 [Option ID = 6842]
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[Question ID = 1712][Question Description = Q09_Konkani_SHAAN_NOV20_Shift1]
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[Question ID = 1713][Question Description = Q10_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Optien ID = 6849]
2. 2 [Option ID = 6850]
3. 3 [Option ID = £851]
4, 4 [Option ID = 6852]
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[Question ID = 1714][Question Description = Q11_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 6853]
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4, 4 [Option ID = 6856]
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[Question ID = 1715][Question Description = Q12_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 6857]
2. 2 [Option ID = 6858]
3. 3 [Option ID = 6859]
4, 4 [Option ID = 6860]
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[Question ID = 1716][Question Description = Q13_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Optien ID = 6861]
2. 2 [Option ID = 6862]
3. 3 [Option ID = 6863]
4. 4 [Option ID = 6864]
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[Question ID = 1717][Question Description = Q14_Konkani_SHAAN_NOV20_Shift1]
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2. 2 [Option ID = 6866]
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4. 4 [Option ID = 6868]
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[Question ID = 1718][Question Description = Q15_Konkani_SHAAN_NOV20_Shift1]
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[Question ID = 1721][Question Description = Q18_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 6881]
2. 2 [Option ID = 6882]
3. 3 [Option ID = 6883]
4. 4 [Option ID = 6884]

19)  g@r e T aEm 3 agged Frged e ad e 9 fomef @

(1)  goner, fomnedf, wdtsar, $an=s (2) ffaem, wi=gE=, guaFm, e
(3) g, frver, fr, TnTwR @ TR, ghEe, R, e
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[Question ID = 1723][Question Description = Q20_Konkani_SHAAN_NOV20_Shift1]
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[Question ID = 1724][Question Description = Q21_Konkani_SHAAN_NOV20_Shift1]
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[Question ID = 1725][Question Description = Q22_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 6897]
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4, 4 [Option ID = 6500]

23) gee fovar Wiediae wa=l <t awehi 2 7

(1)  wshE fg ¥ - dar=h st (2) <O AES — T ARl giEl
(3)  ©d. TE - A5 wia (4) AR, F. THE - WA Hfaa

[Question ID = 1726][Question Description = Q23_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 6301)
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4. 4 [Option ID = 6904]
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[Question ID = 1727][Question Description = Q24_Konkani_SHAAN_NOV20_Shift1]
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4, 4 [Option ID = 6908]
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[Question ID = 1728][Question Description = Q25_Konkani_SHAAN_NOV20_Shift1]
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[Question ID = 1733][Question Description = Q30_Konkani_SHAAN_NOV20_Shift1]
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[Question ID = 1737][Question Description = Q34_Konkani_SHAAN_NOV20_Shift1]
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4. 4 [Option ID = 6972]
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[Question ID = 1744][Question Description = Q41_Konkani_SHAAN_NOV20_Shift1]
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[Question ID = 1745][Question Description = Q42_Konkani_SHAAN_NOV20_Shift1]
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[Question ID = 1747][Question Description = Q44_Konkani_SHAAN_NOV20_Shift1]
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4. 4 [Option ID = 6988]
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4. 4 [Option ID = 6996]
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[Question ID = 1750][Question Description = Q47_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 6997]
2. 2 [Option ID = 6998]
3. 3 [Option ID = 6399
4. 4 [Option ID = 7000)
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3. 3 [Option ID = 7003]
4. 4 [Option ID = 7004]

49) g ferea famith I faam @,

(A)  FieHIaedl I FHAS oo Hihs| WH SAEYl Hgdl Tk S
(B) e USHGET i<l giorid e arerfid Sour’ Sl MIEis Forst Tk Ufaal =T TEh

(C)  HIeF: Wehed AIBNAe! JUTTHN Tieh 9T ATATITE Hihof THaTd
(D)  HARUH, YR gl AR WG Hiigcd A=l R B Al

(E) oed Fcame Ma & Fio0 99 G 3Tee 3168 ST

AT feoea WiEmed 379 99id 949,
(1) (E)arf D) 2) (O3 (Y
(3) (B 3 (D) 4) (E)

[Question ID = 1752][Question Description = Q49_Konkani_SHAAN_NOV20_Shift1]
. 1 [Optien ID = 7005]
. 2 [Option ID = 7006]
. 3 [Option ID = 7007]
4 [Option 1D = 7008]

oWk b
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[Question ID = 1753][Question Description = Q50_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7009)
2. 2 [Option ID = 7010
3. 3 [Option ID = 7011]
4. 4 [Option ID = 7012]
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[Question ID = 1754][Question Description = Q51_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7013]
2. 2 [Option ID = 7014]
3. 3 [Option ID = 7015]
4, 4 [Option ID = 7016]

°2) R avEaT I, IR, GEes A A ade ey, S, gEErR AT T S S

e £3 ) P | S
(A)  TEEET 3TeT Ot (B) oaeE T T HeE
(C)  Figxsl T @iae (D) Hig 3HT @i 3T & Hal

(E) oG A FHari

TRl feoear TEiEaedd AT Y31 g,

1) (&) (E) @ ®

3 @O @) (C) = (D)

[Question ID = 1755][Question Description = Q52_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7017]
2. 2 [Option ID = 7018]
3. 3 [Option ID = 7019]
4. 4 [Option ID = 7020]

33)  ‘“rfen e ¥ YA W TR B TE G Siee ST STEMEE of SSaTEEnit e wee
GIfT ?
(A)  cAfdTE wuT™ ;) fore yeREA
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(C) TR ; Ul Teeiieneg

(D) wferaw fAeie, Her geH

(Ey /= 3, Bgl Tahie

AFTd feoedl TEmed  47g 94 d=d.
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[Question ID = 1756][Question Description = Q53_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Optien ID = 7021]
2. 2 [Optien ID = 7022]
3. 3 [Optien ID = 7023]
4. 4 [Option ID = 7024]
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&) o geE (B) IR W
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FFaA fooem WEeear a9 1@ S

(1) (O (2) (A)
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[Question ID = 1757][Question Description = Q54_Konkani_SHAAN_NOV20_Shift1]
. 1 [Option ID = 7025]
2 [Option ID = 7026]
. 3 [Option ID = 7027]
. 4 [Option ID = 7028]

oW

55)  fomm g weRR ST AT SIS I dTR SR o afgcel SR i) fae ?

) &, e, WL 6 (B) A FRIw
(C) Ffm wEm, T, 59 (D) ¥4 FAR
yhEe feeem wEaeam 3 v S,

() (O & (D) (2) (&) 3F (C)
(3) (A i (B) @ D) Q)

[Question ID = 1758][Question Description = Q55_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7029]
2. 2 [Optien ID = 7030]
3. 3 [Option ID = 7031]
4, 4 [Option ID = 7032]

78)  rmwrem ol sut BN TR SE WRe SR GEER w19 Wi, dws o w9 wrEs T

G ?

4 wlE (B) =igepia =of}
(C)  =&=a el (D) R farm
AT Teoean TaiEiges IRY 9aE w9,

(1) (@) 3 (C) 2) @B F Q)
(3) (B @i (D) (4 (D)3 (A)

[Question ID = 1759][Question Description = Q56_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7033]
2. 2 [Option ID = 7034]
3. 3 [Optien ID = 7035]
4. 4 [Option ID = 70386]

3 peam Y FO0 Tl T AEE HesHl Hidvl TEd SR o, HoE Wiiecd STHGHE AUt
JWHR BT SAeat 81 FEE G8 @I ARAT Greiae) ? d HieadEr d@w i ¢

(A) A IFET TR (B) T TRy
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[Question ID = 1760][Question Description = Q57_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Optien ID = 7037]
2. 2 [Optien ID = 7038]
3. 3 [Optien ID = 7039]
4. 4 [Option ID = 7040]

28)  ‘Fimlt e e o FERA @ TEHE WA T AR, A SR S AR R g
Fell. 3 Y& A=A 9@l SHaTS] AT ¢ JEih TeEid et Yepier desE Aia fohd ¢

(A)  FHiFl A g U (B) 2003
(C)  TMiar shishull 3qem@Ht - qurst (D) 2005
SV VI Ci(D) 2) (O =t (B)
(3) (&) wrh ®B) 4 (©) ¥ (D)

[Question ID = 1761][Question Description = Q58_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7041]
2. 2 [Option ID = 7042)
3. 3 [Option ID = 7043]
4. 4 [Option ID = 7044]

3  gomrs o W gl T S, AT U TEE e S Teara ?
(A) oo, e, YEEE (B) =rrber, favamor, W@uem
(C) fTogamm, gegmT, wifycredt sHmad 9A (D) @Y, Aiieearen s uH, fagem

AT foeom TEGea™ IFa 94919 o=,
(1) (A 3 (B) (2) (C) = (D)
(3)  (B) & (C) @ @) s (©)

[Question ID = 1762][Question Description = Q59_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7045]
2. 2 [Option ID = 7046]
3. 3 [Option ID = 7047]
4, 4 [Option ID = 048]

60) ‘Tysaafien’ 2 TFeU TS HET FIV I FE e ¢

(8) S FEwIT BH T (B) gy 3T
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[Question ID = 1763][Question Description = Q60_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option 1D = 7049]
2. 2 [Option ID = 7050]
3. 3 [Option ID = 7051]
4. 4 [Option ID = 7052]
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(C) eIl ¥ies SIOT AT Ieaii= Hes R awel| efferg wiera
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[Question ID = 1764][Question Description = Q61_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Optien ID = 7053]
2. 2 [Option ID = 7054)]
3. 3 [Option ID = 7055]
4. 4 [Option ID = 7056]

62) gar feren wumk At srewEH (Feft feelt) =1 sTorRRT T QR S ! g TR

(A) AT qEEd (B) ¥ A=w
(C)  FHfcTehal SHIE (D) TEEE
() &) = (O 2) ®B) 3 (C)
(3 (&) 3 (D) 4 (B) 3 (D)

[Question ID = 1765][Question Description = Q62_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Optien ID = 7057]
2. 2 [Optien ID = 7058]
3. 3 [Option ID = 7059]
4. 4 [Option ID = 7060]

63) meaeaT faurr Bt wEe foamT ster oreE AT 9 =L
Q) 0 TS WA BA ST SEed HeIoTh YIS hidd 3
(B)  widis are At et W W deEwd b oA
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(C) K= IRTaFE I TeniEE ol Wt wam gselit T ST W WS

FHiien feat
(D) T dTAeE A AlhAg ! B Had Tio ISR il il shosda!

(1) (B) 21 (D) 2) (C) 3wt (B)
(3) (A o7 (B) (4) (A i (©)

[Question ID = 1766][Question Description = Q63_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7061]
2. 2 [Option ID = 7062]
3. 3 [Option ID = 7063]
4. 4 [Option ID = 7064]

64) il e saoTd Wl SR Ger e I T T S
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[Question ID = 1767][Question Description = Q64_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Optien ID = 7065]
2. 2 [Optien ID = 7066]
3. 3 [Option ID = 7067]
4. 4 [Option ID = 7068]

63) <IOTT TR oot ATt Wriacashd sheRiia SRRt ? o Wiferadgdiar ware! e 7

(A)  gUsciiT TR TP B) 7 feeaw
(C) A0 TEHR (D) wraE=l "M
T feren wreeTs 9T Wi 9.

(1) (A sE (D) (2) (C) 3l (D)
(3) (&) i (B) 4 () & (B)

[Question ID = 1768][Question Description = Q65_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7069]
2. 2 [Option ID = 7070
3. 3 [Option ID = 7071]
4. 4 [Option ID = 7072)

66) wrfeca Fm faefi=h s sl wiftc e 2= aads S amr

Tast I Last IT

(A) TmhEsea fael 3UH UG sHeede () GFTSt e et
HU

B) wifres fvh wagd erdt f= soed (1) Hog onHies
HTEH T4

(C) FaFrm o11s snfig! wekm Tugam (1) = 994

(D) @ e 39E ouafag samE ureEl (V) S gEs
o

V) wd form ol
uFae oo WiEGear 37 94 391,

1 A)-I), B)-AID, (C)-O), (D)-(V)

2  A)-dID, B)-(V). (O)-aD). M)-IV)
3 (A)-aAV). B)-(V). (O)-dD). (D)-d1I)
@  A-O. (B)-dID). (O)-IV). D)D)

[Question ID = 1769][Question Description = Q66_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7073]
2. 2 [Option ID = 7074]
3. 3 [Option ID = 7075]
4. 4 [Option ID = 7076]

67)  sromfimmr Sufir ol T Rt g wawt srmE Sredt @
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T GEEE A
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A Teera watEgea™ A 94 a9,

1 @-V), B)-I0V), (O-dID. (D)-1D)
2y  (A-aD. B)-1ID). (C)-(D). (D)-0V)
3 A-AV). B-(V). (O)-1ID. D)-ID
@ (A, B)-IV). (O)-11), (D)-dID

[Question ID = 1770][Question Description = Q67_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option 1D = 7077]
2. 2 [Option ID = 7O78]
3. 3 [Option ID = 7079]
4. 4 [Option ID = 7080]

°8) SEFHIAF T A FY1 GU 2 SSd |

List I Last IT
@) T H T TES
(B) & (D =g Fol
(C) it oTre Forrareh (L) T IRFR
(D) dEeA (IV) s e
V) Fage smafeiwr
AFAA (aeeal TAEGedH I 99 a=d.

(1) A)-D. (B)-(1ID). (C)-AV), M)-(V)

(2) (A)-IV). (B)-(I1D). (C)-(V). (D)-dD

(3) (A)-(III), (B)-(V), (C)-(ID. IH-(D)

(4) (A)-(V). (B)-(1), (C)-(ID). (D)-(IV)
[Question ID = 1771][Question Description = Q68_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7081]
2. 2 [Optien ID = 7082]

3. 3 [Option ID = 7083]
4. 4 [Option ID = 7084]

o3 ShishUl] TSI JTREe T Hadia a9 greal 9aY= Sigal o,

Tast I Last 11
(&) orfigd adim ol ofwdd siidERm (D 1986 (Fmess: yuesiss AT A1)
(=)

(B) ‘=il S oS AN WOEAS v (1) 1939 (TRYTIEH: WU HIATY WHET)
(C) wfigw andia Himwof afitd=t amu dIn 1962 (mfzmm sl = R AF=a
Tearelt Tgon =gt awmoft)
(D) wrdtn wuedl, wfagm™ oEa Fed (V) Hgad 08. 1987
FIFUH TH WE TR TAMGRE T
ﬁ'ﬁqam:ﬁr 3qa'q-cﬁ
(V) 21mre 20, 1992

T TdeedT TaiEigea™ IR 14 <.

1) @-V). (B)-AV), (C)-1ID, D)-AD)
@2y  @A-O. B)-dD. (O)-(V). D)-1ID
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4  @)-dD, B)-0@). (C)-aD. D)-(V)

[Question ID = 1772][Question Description = Q69_Konkani_SHAAN_NOV20_Shift1]

1. 1 [Option ID = 7085]
2. 2 [Option ID = 7086]
3. 3 [Option ID = 7087)
4. 4 [Option ID = 7088]

70)  iepoft st ! ST S IR 2 WS e

Tast I
(&) fe+l=d
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(B) gaar
(C) e ST FTSqmit

(D) TRk ATk Tt

FFIe TaoeqT watardes ™ arg 94 9=rd.

@ @)-V), (B)-O), (O)-AD), (D)-(I1D)

2 @-dID, (B)-AD. (O)-aV). (D)-(V)
3 @-AI). (B)-aV). (G-, (D)-ID
@) A)-AV), B)-(1I). (O)-(V), O)-ID

[Question ID = 1773][Question Description = Q70_Konkani_SHAAN_NOV20_Shift1]

1. 1 [Option ID = 7089]
2. 2 [Option ID = 7090]
3. 3 [Option ID = 7091]
4, 4 [Option ID = 7092]
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3  @A-D, B-V), (O)-AV), (D)-(II)
@  (A-dID, B)-(V). (C)-D). D)-AV)

[Question ID = 1774][Question Description = Q71_Konkani_SHAAN_NOV20_Shift1]

1. 1 [Option ID = 7093]
2. 2 [Option ID = 7094]
3. 3 [Option ID = 7095]
4. 4 [Option ID = 7096]
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(C) Taa @l wifsrar o wifiesr swud e (IID) == arears Hest
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1) (A)-D. (B)-AD. (C)-(III). (D)-(V)

(2) (A)-(ID), (B)-AID). (C)-(V), (D)-(IV)
(3)  (A)-(IIL), B)-M. (C)-AV). D)-(IN)
@ A-V), ((B)-AD), (CO)-IID). D)-IV)

[Question ID = 1775][Question Description = Q72_Konkani_SHAAN_NOV20_Shift1]

1. 1 [Option ID = 7097]
2. 2 [Option ID = 7098]
3. 3 [Option ID = 7099]
4, 4 [Option ID = 7100]

R
(V) Al 358 969

74 A= R 3 foa=l sisw g gre 9y dfcq e

&)
B)
©
(D)

ListI

STER T
e =
forsm o

siegs ®/M

(1)
(2)
(3)
1)

[Question ID = 1776][Question Description = Q73_Konkani_SHAAN_NOV20_Shift1]
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(A)-(1D), (B)-({IV), (C)-(D, (D)-1D
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1. 1 [Option ID = 7101]
2. 2 [Option ID = 7102]
3. 3 [Option ID = 7103]
4. 4 [Option ID = 7104]
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G Tarear watardesE Oy gaiy o=,

(1)  @)-dD, (B)-AV), (C)-(V), (D)-()

2)  @-3D, (B)-(IV), (C)-(III), (D)-(I)

(3) (A)-IID). (B)-(D). (C)-(IV). (D)-(ID

(4) A)-O. (B)-AI). (O)-(V). (D)1
[Question ID = 1777][Question Description = Q74_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Optien ID = 7105]
2. 2 [Optien ID = 7106]

3. 3 [Option ID = 7107]
4. 4 [Option ID = 7108]

73) ot @ wea @

Last I List 11
(A) T T=A aigg B & o swieem e (D TeEea™
el )
(B) fta e gt /araretie Ameh A g (D) S @l
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(C) 7 forane amEd /at gar 9rr aru/AE @ (1D 6y weam

(D) W= ged A= ged FE W Qg S eear (V) TS THE
T T A A AN e S

(V) WibgEar
g Tawea wataTdeaE 9ivy vy g,

2 @-AV). (B)-(V), (O«ID). (D)-D)

(3) (A)-(IID). (B)-(V). (C)-(1D). (D)-(D)

(4 (A)-(ID. (B)-(ID), (C)-D). (D)-(IV)
[Question ID = 1778][Question Description = Q75_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7109]
2. 2 [Option ID = 7110]

3. 3 [Option ID = 7111]
4. 4 [Option ID = 7112]

76) il W& TR STETSUEA F|l T SEE AEE|
Q) =l wa wifeer o weFaE, sem At awEma, Hiev wike e
(B) o i, IS, Sl Hiaaal sfagm, il TrE afeed s aeFaE
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(3 (C) 4 @)

[Question ID = 1779][Question Description = Q76_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7113]
2. 2 [Option ID = 7114]
3. 3 [Option ID = 7115]
4, 4 [Option ID = 7116]
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[Question ID = 1780][Question Description = Q77_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7117]
2. 2 [Option ID = 7118]
3. 3 [Option ID = 7119]
4. 4 [Option ID = 7120]
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[Question ID = 1781][Question Description = Q78_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7121]
2. 2 [Option ID = 7122)
3. 3 [Option ID = 7123]
4. 4 [Option ID = 7124]
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[Question ID = 1782][Question Description = Q79_Konkani_SHAAN_NOV20_Shift1]
. 1 [Option ID = 7125]
. 2 [Option ID = 7126]
. 3 [Option ID = 7127]
. 4 [Option ID = 7128]
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fEmaredt, ot e T awdt ot ot ‘mredt wn o-gEi g anfeg) v e fag e
TR AT a6 g v e, T TG ST T QR TeaR HRE 9 I
F, qreAl TEUITATR TR AT STHGH STEEH] 750, | Wiar, SEghfavi hyehral T B T AL
TG FEAE] SEES AETAGENEgt A THU oA, d9ran A AEiaun grEEten At

‘SR e BRd 7

(D
(2)
(3)
€Y

HAifeauor Fratac et
T, GG, AT Wigtaes AT SR et fagar
REREES

[Question ID = 1804][Question Description = Q99_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Optien ID = 7213]
2. 2 [Option ID = 7214]
3. 3 [Option ID = 7215]
4. 4 [Option ID = 7216]

3)

21

D
@
(3)
@

9 G

TR AT, &L STE, ST Gl TR dgiaea wE faad $id 9F §97 F e, d THSE HEA o
U HIERTF TV Fewh UH WEd HH AEdE gsgel. U=l df S ATEEn 91sd sl s,
“gueaiael o e s, R § AreEg 4L o foasm g sent aftqoe el wivg QeTean Herd
ARl 3G FEF TS, | Na™E, @1 S8 dev, i, feE Al WA s danuse a6 |91 bRl gush
S TR YT S, § O @A ARG A, d ATEA gwed foeitg A o IWI ar Aees
A WA TG, e SRy @ ewEE snuene yoars e s s St i aiee
fEmaredt, ot arm e awdt et ot ‘ared wn o-gEi g enfig) v e fag e
FEeAH! ITEE g O faga vl e, W TG ST T o] TeAr i 9 e
F, qreAl TEUITATR TR AT STHG STEEH] T5e, | Wiar, STEgafavi hiyehial T i o AL
%‘{qsla'@émﬁ ATEEH ACTASHREGL ST STHT e, fur=ar Aewia Hisiauu SrEated aae

viesaa Pyl ‘Tewag’ 21 wey e Wit i SR e ?
T WA BT e a9
A= WagHe e g naTs

[Question ID = 1805][Question Description = Q100_Konkani_SHAAN_NOV20_Shift1]
1. 1 [Option ID = 7217]
2. 2 [Option ID = 7218
3. 3 [Option ID = 7219
4. 4 [Option ID = 7220]
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1) Consider the following table that shows the percentage (%) distribution of workforce of India Your Personal Exams Guide

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (5E) 15% 3:2
Sales (SA) 12% b:3
Construction and Maintenance (M) 0% 5:4
Professional (PR) 18% B:7
Management (IMA) 21% 3:4
Production and Transport (PT) 19% H5:3
Others (OT) 6% 3:b

frefafaa oo w faem fife fed we @ ge ot § toem & ffes g7 3 g = welse =0 gfoea
(%) faewo awn gey-ufgen weise swa qutn T 3wl &9 % P e e 80 W9 2

arfersr A f3u T4 3RSl % YR 9T YT % 3w i)

GG % FHAE F AT

TSI, oh1 &5 ARG = HEHEA
wtcrer (%) fereron | gew-afgen sgma (307 )
o (T8 3) 15% 3:2
@ (T 1) 12% 5:3
fmtor 3iit smeaw (ot @) 9% 5:4
wrbeEE (d 3T) 18% 5:7
oA (T U) 21% 3:4
IedTEa iR uftEsa (i ) 19% 5:3
a7 (31 &) 6% 3:5

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)

(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

qeft &=t i e 5 Srew $ oftea ge 991 27 (S9med % 31 97 a)

(1)  6.39 @@

(3)  5.96 T

(2) 4.69 9™

) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20NOV_51_SHAAN]

. 1 [Option ID = 8025]
. 2 [Option ID = 8026]
. 3 [Option ID = 8027]
4 [Option ID = 8028]

oWk b2 o

2) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector

Workforce of India

Percentage (%)
Distribution

Ratio of Male to Female

(M - T
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Service (SE) 15% 3:2
Pales (SA) 12% 5:3
Construction and Maintenance (M) 9% 54
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5 A
Others (OT) 6% 3:68

prepp
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Frefefa @foem W fem Hifte formd o & 3n 4 9 o % fafim & 9 wa & Felss = wfoea

(%) fommor @ yEu-AfEen Fesw o w2 't s % P wrEwe S sem 80 @ 2
difeest 3 f3U T SRS % U W TTT o IaL i)

I % S 1 & fmr
TR 57 & I o Frfere
st (%) T | gea-afgen oo (37 )
T (TH 3) 15% 3:2
TE (TE u) 12% 5:3
Fmtor 23R orRar (i ) 9% 5:4
AT (d 2TR) 18% 5:7
weuA (T U) 21% 3.4
Ieures IR ufias (4 3 19% s 3
31 (211 &) 6% 3:b

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?

(1) 330%
(3) 320%

(2) 318%
(4) 80%

Ty § ot dt SR ahE W Wi aiEen SR 6 P g 9 v & ° rERd ye weed i aed Hw5
T wferema 27

(1
(3)

330%
320%

318%
80%

(2)
(4)

[Question ID = 2008][Question Description = Q02_GP_20NOV_51_SHAAN]

1.

1 [Option ID = 8029]

2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3)

Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together i1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% Fev 2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 53
Others (OO A% % o]
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freferia afersm w fem Fiftm foow o @ gr 9 9 TR & fafew &9t 9 wwa & Fesw =@ sfaea

(%) T @ yEu-AfEen Feew o w2 'l el % P wEee i sem 80 @ 2|
T ¥ 128 7T STEST F STHR W 9T o Ia oI

Td % A H1 & foawor
TR 57 & I 1 Frfere
st (%) T | gea-aifgen ogu@ (37 )
T (T 3) 15% 3:9
eE (TE T) 12% 5:3
Fmtor 23R orear (di ) 9% 5:4
e (i TR) 18% 5:7
e (T U) 21% 3:4
Ieures 3R ufiae (4 2) 19% B
319 (a1 &) 6% 3:5

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of

workforce in PT sector?
(1) 82% (2) 87%
(3) 89% (4) 85%

TH T 3R TH U &Ei § HE 95 S H Fo qen § A &7 ° St sEed i T 5O S e

o wiowa 27
(1) 82%
{(3) 29%

2) 8%

(4)

85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_51_SHAAN]

1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given

vear. Total workforce 1n all the sectors put together i1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% Fev 2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 53
Others (OT) 6% 3:68

Frefefaa arfoem w fiem Hif formd o & 3n v 9 e # fafim o 9 wa & Fesa = wfoea
(%) T qon gE9-ufEen wEee oUW qmE A 2wl el % T FEed H e 80 9| 2
AfeTT § 128 70 STS] 3 STTHR W 9T o Ia% i)

ARG = s 1 e feaeor

TR %7 &3 |

YR 1 FrHeaA
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st (%) fom | gea-wigen oo (37 )
ua1 (T 3) 15% 3:2
4w (TE T) 12% 5:3
Fmtor 337 orear (Hi ) 9% 5:4
e (i TR) 18% 557
weaA (T U) 21% 3:4
Ieures iR ufiae (4 2) 19% a3
317 (a1 ) 6% 3:5

prepp
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The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce

in

PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs  (4) 13.2 lakhs

TH T SR TH U A °§ FERA Afgen FwEsa i FA qen o G & g7 9 Feka afgen sEew H e w5

ot R 27

(

1) 5.1

(3) 5.7 A

@) 7.5

4) 13.2 @rg

[Question ID = 2010][Question Description = Q04_GP_20N0OV_S1_SHAAN]

P bl D —

3)

1 [Option ID = 8037
2 [Option ID = 8038]

. 3 [Option ID = 8039]
. 4 [Option ID = 8040]

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together i1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector

Workforce of India

Percentage (%)

Ratio of Male to Female

Distribution M : F)
Service (SE) 15% Fev 2
Pales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 53
Others (OT) 6% 3:68

Frefefaa arfoem w fiem Hif formd o & 3n v 9 e # fafim o 9 wa & Fesa = wfoea
(%) o qon gEu-afEen e oum qmta e 2wl EEl % P wEed B e 80 9@ 2|
AfeTT § 128 70 STS] 3 STTHR W 9T o Ia% i)

Td % B H1 & foawor
UFIR 7 &5 R o Frer
o (%) o | gea-afgen ogea (( T A )
a1 (7@ 3) 15% 352
oy (Tw ) 12% 5:3
Fmtor 23R erRar (i ) 9% 5:4
AT (0 2TR) 18% 5:7
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TS (W T) =L ERAeRE Your Personal Exams Guide
Ieures IR ufiae (4 2) 19% 5B
3177 (311 ) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 : 39 (2) 16 : 37

(3) 16 : 35 (4) 16 : 39

ot w & # wrEa wiEen wEad H FE SR § 3R vd o1 A &6 A SR 569 wEEe i fel WEdl 6

ST T B ?
(1) 17:39 2y 16:37
3) 16:35 4 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

AATE = fFE T § g IR a3 goe i aTea FE TR 6% SHatedd TGl W Bl 2 7
1 ek 2) erEEY W

(3 HHE W (4) T e '

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8045]
2. 2

[Option ID = 8046]
3.3

[Option ID = 8047]
4, 4

[Option 1D = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

{B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frafafaa F2 gtmfe seamm awaet 6 gt 2 % somm wwdi fafim W % meam 9 ffSa e
T 31 3% R I SEER SEeE R e 8| 3 A N @ qua eeR sHan % st o 87

(A)  FArcH-GEa (Fmed)

(B) FaeE

(C)  TEaw i |iEd

(M) e
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(E)

A= fau o faemreal o @ T2l I 1 = il

(1)
2
(3)
(4)

CECipnl

(A) 3R (B)
(B) i (C)
(D) 3R (E)
(B) &R (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_51_SHAAN]

1.

2.

3,

4.

1

[Opticn 1D = 8049]

2

[Option ID = 8050]

3

[Option ID = 8051]

4

[Option 1D = 8052]

3) Match List | with List Il
. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.
List 1 Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method

(I} Using Swayam and Moocs

(B} Open and distance learning method (I} Programmed instructional packages
(€) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(I1}, (C)-(1N1), (D)-(IV)
(2) (A)-(1}, (B)-(1V), (C)-(1), (D}-(I1)
(3) (A)-(IV), (B)-(lll), (C)-(N), (D)-(I)
(4) (A)-(I1), (B)-(1), (C)-(IV}, (D)-(1II)

A1 % @ gh-11 & e hif) g=hi-1 8 z= siftrm awenet © faao $i fafm § o€ 2, o=k gt

11 # sifrm fafiet i saesiias sen H aa-fs & 08 §)

(A)
(B
(©)
D)

5 o o faweal § O w SO% w1 96 Hie

1
2)
(3
(4

ft-I

Bragor <6t fatern

S -a i Aafhareen i
T 3R gt arfeem fafy
foreqor it dafees fafy

Taor i sriemea [y

(&)-(D), (B)-AD), (C)-(1IL), ()-dV)
(A)-(1L), B)-IV), (C)-(I), (D)-(1I)
(A)-AV), (B)-1I), (C)-AD), (D)-(I)
(A)-AD, B)-(D). (C)-AV), (D)-(11I)

F I
UHTEEdl SgH i dohAlD
(D) e 3R g b S
Iy AfRfa IR dha
(III) WTSTER LI Gt
(IV) uical % wy-wy e mwa

[Question ID = 2014][Question Description = Q08_GP_20NOV_51_SHAAN]

1
2
3.
4. 4 [Option ID = 8056]

. 1 [Option ID = 8053]
. 2 [Option ID = 8054]

3 [Option ID = 8055]

prepp
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4) Given below are two statements Your Personal Exams Guide

Statement (I) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities,

Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (1) and Statement (1) are correct

(2) Both Statement (I) and Statement (ll) are incorrect

(3) Statement (1) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (ll) is correct

w97 (D) : ITeifed afR wiftemman ofteon = wlienfei=l & T o st gaar &1 Sud dimr @
ST e % e AR T S 2

9 (I0) : Fegig e wlam i nad =afmaa wiao et + fafie smer 3 o =
u % YEEE @ R ey W #)

SUUH FIA = ATAR 7, S Gu T wedi 0 8 w9w 39T ST 9 Hifm

1)  F @O R AD I wE 2
@) =W @) 3Tk (D) I Tom B
(3) W (DT 2, A FeE (1D T R

4)  H¥ (D) e 2, SF B9 AD w5 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S51_SHAAN]
1. 1 [Optien ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Optien ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements ; One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion {A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R} : An effective instructional support system has to be linked with enhancement of learning conditions,

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) {(A) is true but (R) is false

(4) (A) is false but (R} is true

Hiel g Fom fu e ¥ : oF afiEyA (Assertion A) % w1 § ffiga 2 @ gm0 3w F (Reason R)

Hway

st (A) foreqor % analer i s H A sl wwEar yonett @ Fiea v sifem gfomi
h! TEAH T 2

FHROT (R) : Terdft ol foneror wgmar wonelt =i st uiifeafent 9 gaw % wmy 3w S s
Lt

I FHYT F oS |, T e e et § 9 get s W 999 il

(1) (A) 3 (R) I T 2 3R (R), (A) F wdi =re 2)

) (A SR R) I T 2, 9 ([R), (A) Fi 77 = 16 3
@ (A uA 3, dfF ®) 79T 2

@ (A s 2, A R) 79 2

[Question ID = 2016][Question Description = Q10_GP_20NOV_51_SHAAN]
| 1. 1 [Option ID = 8061]
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| 2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

Your Personal Exams Guide

6) Which type of research encourages participant’s perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

fopa wepr % 7w o uigarfi-uide = Deasa e Smr e ?

(1)  Jord g (2) tfaeitaes My
(3)  SAHATETR WY (4) TS Wy

[Question ID = 2017][Question Description = Q11_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = B066]
3. 3 [Option ID = BO67]
4, 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

{A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

uftsreu aftemr frht afofe o @t ofigf® = o1gfe % =v 4 2l 2, oy 6 f=fafea § 8 & &t

] T GUFRR 27

(A)  Taaroners &

(By  vHien=s fafy
(C) e fafy
D) el f&f

(E) ==mwEmess &

F=1 fou o famwedt § @ O 3w w1 9= i

1) (&) (B)
@ (B RO©
3 (O R D)
@ (D) H(E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072)

8) Match List | with List Il. List | gives steps of research while List |l provides techniques used.
List |  List Il Steps of research  Techniques used

(A) Problem formulation (1) Tabular and graphical representation of data

(B} Hypothesis making (llI) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry

(D) Data Analysis  (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(l11}, (B)-(IV), (C)-(N), (D)-(1)
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| (2) (A, (B)-(IN}, (C)-(IN), (D)-(IV)
(3) (A)-(I1), (B)-(ln), (C)-(I), (D)-(1V)
(4) (A)-(l11}, (B)-Q1), (C)-(I1), (D)-(IV)

A1 % oy gef-11 =1 foers fifs) g1 @ w9 % = uea 2, a0 gef-11H 3759 g1 Ygw a®

Fft-1
I ok =
(A) THEN
(B) ufterewmr famfor
(C) wfa==a ufsen =1 ==
(D) gl fagawor
Hra fau o faweal # O e SR F1 999 Hit
(1)  A-dID. B)-aV), (O)-dI), (D)-(D)
2)  (A-@. (B)-AD, (C)-3ID), (D)-IV)
(3)  (A)-dD, B)-dID), (C)-ID), (D)-AV)
(4)  (Q)-dID, B)-D), (C)-aD, (D)-AV)

prepp
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Fef-11
LU B LI RGE e
(I)  7moRsl =1 arfirs AR AT Tegdiso
(II) uF FoTR U U THEA A o
(III) <= % &3 & 9T uv 33
AV) i % =0 % & Jaa i we

[Question ID = 2019][Question Description = Q13_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4, 4 [Option ID = 8076)

9) Given below are two statements
Statement (I) : There is no difference between format and styles of writing and referencing in a thesis and a research

article.

Statement (ll) : Research ethics and its observance is mandatoery for all researches.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true
(2) Both Statement (I} and Statement (ll) are false
(3) Statement () is true but Statement (I} is false
(4) Statement (1} is false but Statement (I} is true

= 3t wum fim e R

F97 (I) :

w97 (ID) :

OIS

U TY-TEY TR WME-TT § oEd oft gedE % tawd ofR Heh % g w8 ot 78

Ty waet A ok s saen ot mdl F R sifar R

ITUH HF F Tl 4, = B T feredl 4 ° @t s 9 i

&)

2)

(3

4)

w9 (I) 3it (ID) 241 59 3
T (D) 33 (1D) 2 o8 2

=ya (I) 9 2, Ao %99 (1) 315 2

[ (1) 579ca 2, | # (1) T3 2

[Question ID = 2020][Question Description = Q14_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Optien ID = 8078]
| 3. 3 [Option ID = 8079]
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| 4. 4 [Option ID = 8080] Your Personal Exams Guide

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of {A)

(3) (A) is correct but (R) is not correct

(4) {(A) is not correct but (R) is correct

Hi= gt By RBe e § - T AfiFeR (Assertion A) & w0 d fafaw § @ gW 5% F01 (Reason R)
FEaH

wAfe (A) ; et wiy afiseum (Hy) #1 Pl afmmermr (Ho) 6 m=oa 8 wdao fen s
=|rEa|

w0 (R) : i uftewerr (Hy) = asanta #1 sfigf @ig v @ 78 6 s g 2

SUIE HUA % A 5, T G T fweat 0§ a9 S9gw SR W 9 FiR

(1) (A) 3R ®) IA & 2 R R), () F =@ = 2

(2) (A i (R) A wd §, @ (R), (A) F w8 e = R
@ (A2, afF ®) T8 @ R

@ (AT T 2, AFE ®) w2

[Question ID = 2021][Question Description = Q15_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8081]
2. 2 [Optien ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

yredta 9 afee Toiw T ugiE ue feaw feAtafaa 4 | fre ot e 22

(1) 30 sFadl (2) 30%
(3) 15 3FEH (4) 15 7%=

[Question ID = 2022][Question Description = Q16_GP_20NOV_S$1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

fopm THMERT 1 - (S "Let truth prevail” 87

Q)  fi R Q) T A 3
@ fafm @ 3Ry

[Question ID = 2023][Question Description = Q17_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8089]
2. 2 [Optien ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements ; One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion {A) : The more performative broadcast is also more cohesive and popular, but owing te new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both {A) and (R) are correct and (R) is the correct explanation of (A)
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(2) Both (A) and (R) are correct but {(R) is NOT the correct explanation of (A) Your Personal Exams Guide
(3) (A) is correct but (R) is not correct
(4) {A) is not correct but (R) is correct

= 7 FuF fqw T ;v fiEeR (Assertion A) % w A faflgw 2 ot 3o su% FRW (Reason R)
®®IH

s (A):  wiites TR (siewiee) sngTsd st gafedier s AimcE g 2, weg 98 difn
# a9z ¥ 39 T9E U2 @ 2

1 (R) : T TER (Siewe) it m awaty 2R i o1 e 7
ST HYT o ATelies 3, e f2u o Rrpeul O o quE ST St W TAA I, ;

(1)  (A) s ®R) 3 @@ 2 o (R). (A) F & =amem 2

@) (W) AR (R) A g T, A R). (A) F g s T R
(3) (A" g, At (R) ud 78 )

@ Q)= T 2, 9 R) w8 2

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093)
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods,

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System,

(D) For making assumptions that media have limited direct effect,
Choose the most appropriate answer from the options given below :
(1} (A) and (B) only

(2) (B) and {C) only

(3) (C} and (D) only

(4) (A) and (D) only

FOER % SUd & 27 TRl Uiel Aehies FRE TR ¥ T TR e 9 el wfed guv

(&) wmE faEm Bt A e f @ w0 % G
B = wia safim v % @ e 23 % fa
(C) It = frar qonell =F1 &R seH b T

(D) =g gon s9H = oo R difgan = e wve @i giar 21

et faw e fEeredl § O el IUgTE 3T W 9 i

(1) = (A) 3R (B)
(2) == (B) 3 (C)
(3)  ae (C) 3t (D)
4 7= (A) IR (D)

[Question ID = 2025][Question Description = Q19_GP_20N0OV_51_SHAAN]
1. 1 [Optien ID = 8097]
2. 2 [Optien ID = 8098]
3. 3 [Optien ID = 8099]
4. 4 [Option ID = 8100]
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15) From the list given below, identify the Psychological barriers to communication Your Personal Exams Guide
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

fo & 73 g=ht | @ g B e et A i fif

(&) i
(B)  amwE
©
(D) &g

(E) &I =0 9 g

i1 fou 7u fawedl § @ OF W H1 T HI

(1) == A), (B) 3 (O)
2 % (B), (C) (D)
(3 %3 (C). (D) 3R (B)
4 Faw (A), (C) (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/~ (2) Rs. 4,000/-

(3) Rs, 5,000/- (4) Rs., 6,000/-

T T4 % S0 U TRER W oIhd Wi 599 U 3 Worl ¥ 4000 T, IUF T 4 Her H 4500 T
R 2fim 5 HEET 9 5000 T 97| AfE 3@ T % INE FA g9q 5000 T off a1 3w ufEw At eiga

Mg wta et i ?
(1)  3000/- v (2) 4000/- w3
(3  5000/- TR (4 6000/- T0@

[Question ID = 2027][Question Description = Q21_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107)
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76,5  (2) 98.25
(3) 55.75 (4) 56.75

70 @ 90 = sit= sht U} IraT=H wEE] W1 Siod aqE -

(1) 765 2) 98.25

Fils &Y e TE 4 AN =a TE
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[Question ID = 2028][Question Description = Q22_GP_20N0OV_51_SHAAN]
1. 1 [Optien ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Optien ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

T TARE 33 Tl g9 9 W 11 ofieX 39 ¥ A gea % ser @ aifia s ) wfowma | @

&Y -
(1) 25% (2) 50%
(3) 70% (4 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

7ty Rl avg =1 @A 9o9 3uE o gem W 95% R ai ey =R ufqmam =0 37

1) 4.26% 2 5.26%
3 5% @) 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8117]
2 [Option ID = 8118]
3 [Option ID = 8119]
. 4 [Optien ID = 8120]

-

20) If someone sells an item at a cost of Rs, 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs, 2,000/-
(3) Rs. 2,080/~ (4) Rs. 1,560/

I 1 =afts fordt aeg w1 25% wiwm 1 o 3 38 1200/~ v F =@t 2 aF 30% F1 o9 FAM
fore =@ =w =g = fFw Fima v s= =i @

(1)  1600/- v (2) 2000/- ¥
3  2080/- ¥ @ 1560/- T3

[Question ID = 2031][Question Description = Q25_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124)

21) Which one of the following sources of knowledge {pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana
(3) Upamana (4) Unuplabdhi

Te YR e § e A Fefataa § @ f9-wm g9 ome atg 6 R w9 a5g 3 maEa ®

ATl 27
(1) vl (2) IgaA
(3 zauE (4) sETAlsy

[Question ID = 2032][Question Description = Q26_GP_20NOV_51_SHAAN]
| 1. 1 [Option ID = 8125]
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| 2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)

(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijha)

(E) Giving an example of the underlying rule (udaharana)
Choose the correct answer from the options given below :
(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A}, (B), {C)

I TR o5 STTUR T 5 A H T o1 Gl 369 o & 7

() Tommd foav o sameor R gEEa/ wESTar 0w (37)
(B) RO % HH (27)

©)  sifamon 6 g % =0 3§ g (Frm)

(D)  fhermon =1 we (wiasm)

(E) Tifea Frem = SEreco & (SEmew)

9 fau mu faweat @ 9 g8t 39 = 99w il

(1 (D), E). A, ). B

2 (D). (C). (B). (A), (E)

3 (D). (B). (E). (A). (C)

@ (D), (E). (A). (B). (C)

[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]

1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]
3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana

U WA TR i -6 ASIEHE 3168 ST i A 3 SA07d Tl 2 ¢

(verbal authority) to inference?

(A)

(B)

©
D)

(E)

Choose the correct answer from the options given below ;

(1)
(2)
(3)
4

Nayaya
Vaisesikas
Buddhists
Mimamsa

Carvaka/Lokayata

(B) and (C) only
(B). (C) and (E) only
(B) and (E) only
(4). (D) and (E) only

prepp

Your Personal Exams Guide
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@& =™
(B) <uifvs
© dtg
(D) s
(E) =i /<ieRmEd
= fou 7u faepedl § 9 UE) 29 = 9gq HIfu
(1) == (B) il (C)
(2)  FEA (B). (C) S (E)
(3)  #FFa (B) 3 (E)
4  FIF(A), (D) 3 (E)

[Question ID = 2034][Question Description = Q28_GP_20N0OV_S1_SHAAN]
. 1 [Option ID = 8133]
2 [Option ID = 8134]
. 3 [Option ID = 8135]
. 4 [Option ID = 8136]

e it R

24) Given below are two statements
Statement (1) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.,
Statement (1) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (l) and Statement () are true
(2) Both Statement () and Statement (Il) are false
(3) Statement (I} is true but Statement (ll} is false
(4) Statement (1) is false but Statement (I} is true

= a1 e fem w2

e () ;

Y (1) :

IPUF FUF o H, A2 BT T e § ¥ wE) SO 99 it

(1)

)

3

(4)

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]

Tl

Fo (1) & (1D 2 5 3
F () 3R (D) 21 arae 81
#97 () Ged 2, Al weA (1) 19T 2

%97 (1) 39cq 8, i e (ID) 9eq 2

[Option ID = 8137]

2. 2

[Option ID = 8138]

323

[Option ID = 8139]

4. 4

[Option ID = 8140]

T WA I % ATER AT E dlfhe % % wa ot grar 2|

qif® AT T8 o1 sardt 2 & g0 frm gor & srmm e =Y wfes ga: 7
et 3 o 29 0 I e 2

prepp
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25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (1} Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason  (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll} Therefore there is fire on the hill

(D) Statement of thesis to be established (V) Becuase there is smoke

gefi-1 % @ g=hi-11 = frem fife)
-1 w11
T % =l LETIER
(&)  sfraron i w9 gf @ el gt w2 ae o B R SR widw
T
(B) RO 1 an wgE W A 2|
(C) Fafka frem o sgEwn & (1) sufo verd o @ 2|
(D) wenftm = snereht sfirgron =1 w99 (IV) Wit I= usT 2|

= fau g faeredl § @ 91 9 =9 FiY

1)  @A-O, B)-AID, (C)-0V), (D)-(IL)
2 @)-aV), B)-Al), (©)-(), (D)-aL)
3  @-AID, B)-aAV). (O-(D). (D)-AD
@ Q-0 B-{, (C)-111). D)-IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :
(1) Faster RAM  (2) Blu-Ray Drive
(3) Solid State Hard Drive (4) LCD Technology

U HATS A B A T 2 A uk A Hiew % dueg 1 i e & fed wn fegg g e @ aon
St et S9eid Al i e SR A Bl I TeH | % 3|

| T % fon e drenfies =1 uEim fem e 27

Q) we= (dm) = @ =AFE
(3)  witrs w7 =18 g (4) T A F ST

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147)
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (0S) installed on it.

Reasons (R} : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A}

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 2t = R T 2 ;o= wfyEY (Assertion A) ¥ ®9 § fofiga %T—ﬁ&@l’fﬁﬂ% RO (Reason R)

%ﬁ =1 ‘5 2
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HHFRAT (A) . TcFeh HIHE TETH FHFAZL H Ueh ATOE TR ATEFETE B9 9 TEEd g 1 |Jhgl] Your Personal Exams Guide

T (R) : AT 3 FEAE WY IR W en9m § waig A8 W awd |

IUUTH FI T ATF |, A 9T T fawmen § ¥ T8 ST 1 99 it

1) (&)W ®R)IA T M R), (A) 7 T = B

@ (&) IR (R) I T F, A (R), (A) F & = w6 2
@) (AT R, 9k R) s 2

@ (A a8, A R) 73 2

[Question ID = 2038][Question Description = Q32_GP_20N0OV_51_SHAAN]
1. 1 [Optien ID = 8149]
2. 2 [Optien ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

{(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

gaU 91 U aud B gual + w0 ¥ Fofaige wie auaet % 98 %9 i 9geE i)

A) 1500 M Bytes

(B) 5 K Bytes
{C) 1 G Bytes

(D) T Bytes

5 fag e fameat @ 9 wEt 3o w1 == Hifo

1 DA O. (B
2 @, D) ©O.B
3 @, 6B.0.0
@ D). ©).A). B

[Question ID = 2039][Question Description = Q33_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154)]
3. 3 [Option ID = 8155]
4, 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (1) : Wi-Fi has a shorter range than Bluetooth.

Statement () : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (1) and Statement (ll) are true

(2) Both Statement (l) and Statement (Il) are false

(3) Statement (I} is true but Statement (ll} is false

(4) Statement () is false but Statement (I} is true

@B & weg § fored sy sit arg-d 2oient 2 €, i gt e fag e #
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F44 (D) ¢

e (1)

TE-FE I I sy ¥ w9 B B

=TE-hTé = WIS U S By e g A dis ot B 21 S 9 dehar B

IO YT F o H, T8 B e Frewl # 9 9 3o w999 Hifag

1)

(2)

(3)

(4)

Fo (T) o (ID 2 &ex £

FoF (1) & (ID) 241 oT5ed B

Fo (D) T 2, A %97 1) 19 2

Fu (D) 37 2, S w9 (1) 97 2

[Question ID = 2040][Question Description = Q34_GP_20N0V_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4, 4 [Option ID = 8160]

30) Match List | with List Il :

g=it-1 = =g gfl-11 = faee hifsm)

()

(B)

(©)
D)

9 fau o famwedt 4 @ gt s w1 == Fifw

(L)
(2)
(3)
(4)

T=t-1
(Frogex aTii v76g )
OCR

OMER

Email
Instant Messaging

(A)-AD. B)-@). (©)-(IV), (D)-1II)
(A&)-AD, (B)-@). (©)-(I1D. (D)-(1V)
(A)-@), (B)-aD). (C)-(11D). (D)-1V)
(A)-(), (B)-(L), (C)-(IV), (D)-(IIL)

Match List T with List 11 :

(&)
B)

(©)
D)

Last I
(Computer Terms)

OCR
OMR.

Email

Instant Messaging

@

a1

g 11

(st

Zfpa o1 efoflga SwaEl 1 T T %6
for s Bt )
wg-fapedi wienatl # o W@ w9 & R
T BT 3

A11) STEEIT Frgf-heH
(IV) GHeRIferh g

@

(II)

List IT
(Purpose)

Used to scan typed or handwritten
documents

Used to mark  multiple-choice
exalinations

(III) Asvnchronous Communication

Ivy

Synchronous Communication

Choose the correct answer from the option given below :

1)
(2
(3)
@

(A)-aD, (B)-A). (O)-(IV). D)-1I)
(A)-aD, (B)-1). (C)-11D), (D)-(V)
(A4)-(@D), (B)-dI), (C)-(IID), (D)-AV)
(A)-D), (B)-dD). (©)-(IV). )-1I)

. [Question |D = 2041][Question Description = Q35_GP_20N0V_51_SHAAN]

prepp

Your Personal Exams Guide
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[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4, 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

frafaftaa 9 9 *l9-a1 v 999 1 o FH g g 27

(1) U SRS (2) T FREE
(3) IS SIEITHUTES @) e

[Question ID = 2042][Question Description = Q36_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167)
4, 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frafafiga 9 9 wiv-w = Fiq TR 9 w5 w1 TS 8 e

(1)  sadiz S (2) uEa el
(3)  ®Een (4) wwterga

[Question ID = 2043][Question Description = Q37_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2} Volcanic eruption
(3) Epidemic (4) Storm

Freafafaa 9 § Fi7-5 TEkis o9E SRR Sedl 3 TR S6H STUea® @ 9 T @ ?

1 (@) vaengEt e
(3)  wEmHl (4 TP

[Question ID = 2044][Question Description = Q38_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8173]
2. 2 [Optien ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt, of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) Mational Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) Mational Mission on Survey of Himalayan Ecosystem

URA QRN =h! THIeRviiE e a1 & ded 4 NMSHE fefefiaa o 9 foruem geme 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayvan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalavan Ecosystem



WWW.prepp.in .repp

[Question ID = 2045][Question Description = Q39_GP_20N0V_51_SHAAN] Your Personal Exams Guide
. 1 [Option ID = 8177]
. 2 [Option ID = 8178]
. 3 [Option ID = 8179]
4 [Option 1D = 8180]

oL B

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B}, (C) and (D) only

(2} {A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

Freferfin § § o squet = iager 99T w7 % @R S STy e WIS 8 7

(A) IS SISATHATES
(B) TR g1y (PMas)
©  sEE

(D) Hm

(E) FT5e® SRS

F= fam T fAwedl § 9 o S w1 = hiR

1) = (B), (C) 3R (D)
2 F A), (B) R (C)
3 = (B) 3it (D)
(4) = (B) 3 (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Optien ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?

(1) UGC ; ; (2) NCTE

(3) NCERT ; ; (4) AICTE

z=1 foren & dedl o, wAdT s=mm e A gmiewr e § o gigmsma w9 feifa 9 & o
Frafafas § @ Frg udin Ferm e = FBaw e @

1 xSt 2 wHH
(3 wHEImA (4 uvImHAg

[Question ID = 2047][Question Description = Q41_GP_20NM0V_S51_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4, 4 [Option ID = 8188]

37) Match List | with List Il, List | names various organizations while List Il gives their location :
List1 ; ; : ;Listll

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; : (ll) Bengaluru

(C) NDRI ; ; (1) Lucknow

(D) CDRI ; ; (IV) Karnal

A1 % wy goH-11 = e i

g1 gfi-11

AN e —— . iT =0
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(1
(2)
(3
(4

(A)-ATI), (B)-{II), (C)-(I), (D)-(IV)
(A)-AD), (B)-M. (O)-AV), (D)-{11D)
(A)-1D), (B)-AD). (C)-(D). M)-AV)
(A)-AV). (B)-AID. (O)-(ID. O)-D

[Question ID = 2048][Question Description = Q42_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Optien ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF, What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning,
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.
Choose the correct answer from the options given below :

(1) (A}, (D), (E) only

(2) (A}, (B), (E) only

(3) (B), (D}, (E) only

(4) (A}, (C), (D) only

73 foren fifa (w7 € f1)-2020 % @ § &1 v Fit YO FE T AW 2| 39 Ferm % i mwme €2

(&) SRR H omEuE o TEreR 3 e Frim SR w)

(B)  wifnm shi ged 2g iR % ST o Gy o el o gaa SeM-TEH g U He gRa1 |

(©)  weft el et = sgEn < § w2y agerd frivat w anfie e

(D) Tawer TReEl, T o oA uiEd ¥ & § A AR wwEn A 3y ontEme
R 1 YA S g SAAUE ITEAH WA Fl

(E)  Toren dienifieht # sitfgs of axemma awaret =1 fmior s

=t for e freredt 4 O wdl 3w e R

L == (A). D), (B)

2  SEd (A) (B), (B)

(3 %« (B), (D), (B)

4 FaE (@A), (©). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Optien ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM
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(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A}, (C), (D) only

(3) (B), (C), (D) only

(4) (C), (D), (E) only

Frefafea ¥ @ -9 3-sifrm 59 87

AA)
(B)
(©)
D)

(E)

f=

(1)
2
3
(4)

Ty
RILEL |
THAUNT
e
T
fau o fmedt § O w1 SR w1 T HINT
e (A). (B). (E)
4 (A). (C). (D)
@ (B), (C). (D)
e (C), (D). (E)

[Question ID = 2050][Question Description = Q44_GP_20NOV_51_SHAAN]

1, 1]

Option 1D = 8197]

2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]

4]

40)

Option ID = 8200]

Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?

(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

W TF % TEET 39 g Y 2015 # woa fw weE-4 @ weiig freifea 3 § $e-a 96 ST

™

(1)

(3)

ure

ST TART 3T AGET (2) ToETEH e

TS I (4) ST TOTER TS ST

[Question ID = 2051][Question Description = Q45_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8201]
2. 2 [Optien ID = 8202]
3. 3 [Option ID = 8203]

4. 4]

Option ID = 8204]
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Topic:- General Paper_Set1_C

1)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the

tragic milestone of one million deaths, and the human family is suffering under an almost

e Y A e B, BRI e T e e I e e e T SRS PR BER L R
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unprecedented socio economi crisis, Stressing every one of the country it touches, it has the

potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost., The World
Bank projects a US 3110 billion declhine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T GEEEEE 5 T $89E a1 3T T 99 W IW 3

FIAT S Ffag- 19 HEMRT §AR W99 1 SIAqd 4as e g iR g favaag = o & wsm
a1 AR 21 ewt ad ¥ sifts B § ol § oud s % WY T ArRE WTEREH H DI T
HEId ® Tl IR B o1 T q@E BT U 10 TG @M A S el g & R gl wear B gl w6
TR AW W I3 TS W@ 8| Weg AT WEWH WRe G ¥ wEl oI 3, AT wh Iy
amE-alE % W 3| 2W W Uww At W AWiaT ) gEe ot @t omide Wi
i TE TS A 3 R e w o TR B w e §) G T A anhee s s
(Ferard) & 9 @1 St dt w aoThl e WaF 9 T 8, WY o 9% fava e wied % uedm U ue ©
@R wedl geal i 3@ w ¥ oaw u Afvaw oedE et freem % oW W o g @ Eice
5= % Aged § s = @1 21wt B @ st e ol emr men @ 1 5 98 war fe et
wd EFE g7ei T )l e fifle gl % ged ot wng-ge @l 92 31 ofaddE 3 wned @
Igea 2 5 400 fafemm (40 =) m it Teie s vt &) faza d% J sgER A R B owm e
g7-Tau (i) # 110 ffemm smieh ser F w=h snof) gom sthime 2 5 500 fafema (80 #U3)
AT A gRend) Sl W g R d and T2 g )

The major crisis faced by the world since World War 1l is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

ffta forragg % =13 fawa 1 w98 o=t @we Frw 83 § s 27

1) o @) e
(3) TR (4) wWeH

[Question ID = 2052][Question Description = Q46_GP_20N0OV_51_SHAAN]
1 [Option ID = 8205]
2 [Option ID = 8206]
3 [Option ID = 8207]
. 4 [Option ID = 8208]

o R

£) Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,

alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
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losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

T i FEGEYES 98 U1 38 a1 2T T 93T H I 4

HIAT TEE FITS- 19 HeMRI THR THF T 1YAqd 37T TR w9 iR fidta favagg & o i v=w
€ T R1 fimet ad W sifim A F when § cwd s F @Y 95 AR SeHRE H sisH S0
Terdid % P 2| A9 T S@E B9 A 10 TRG A JH S e g & iR ol Arear # el W
T SEET W IS U8 W 8| g A8 TR @R e W B UT B, q9 Th SUEE
amTfaw-alls @z ot 21 3@ = T =afs Tow wwite ) e fammwd it onfie oii
TeHIfE THE TS I § R o g ok e R e 9T € A9k 1 o gt A afamfl
(ferarll) 1 9 w1 31 ot o aiihl cd e AR T R, WY B A Fva T W F Wedrt ¥ 99 B
= wedl gegl B i 3@ W 3w 7 Afvaw geam e feem % wE W ol 3 @ Eiee
Aok % ged | s R g 31 ' T abr st e o o e w €1 o 72 war R aideaten
e G BP0 weT i Rl g gidt Tl % sies iR wig-ae @relt 9 21 siaddE am gneA
g 2 5 400 fafemm (40 =) @ it TiEl 1 v B farm S 3 AR A 2 R T e
g-Ta (W) d 110 fafema smieh swen A wh snofl) gom sifime 2 5 500 fafema (80 +0g)
<A AT i) el @ U e g E g )

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

TEr = Frefataa § 8 e o8 W= wae A8 ugi a ?

(1) wmh (2) i
(8) = 3 v (4) THEER

[Question ID = 2053][Question Description = Q47_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8209]
2 [Option ID = 8210]
. 3 [Opticn ID = 8211]
. 4 [Optien ID = 8212]

oW R

) Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost., The World
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million people will not be able to meet their basic needs.

T EEEEF 93 T $9E a1 3T T 99 W IW 3

FIAT P Fifag- 19 HEMRl TAR W99 1 SIAqd 4T e g iR g favaag = o & wem
a1 T 31 et ad 5 oifem & A wfimn o sus 39wE F WY AR AERE HTERT T SIS U
HEIdT ® % IR B o1 T q@E BT A 10 NG @M A 1 el g & AR gl wear B gl @@
T SR Sy IBM U TE 2| UGY AE WEWMN WReA GHe ¥ BE w3, U@ Ok g
amifsw-a1fw w@we f 21 W = 1T ot e wwRe 2) son el wenfaw oY ofw
(Ferardl) & g @ St ot w ol e WaF 9 T 8, WY o 9% fava wawes wed % ueEm U e ©
@R wedl geal B ol 3@ w ¥ oaw w9 Afvaw oedE et feem % oW W o 3 @ s
qo=as & Sged | froam e @ 31w A e st Aefen s e e @ £ s T2 war fr afdesute
%d A i v )l e fifle gl % gew oft wng-ge @l w2 31 SfatdE 3w wned @
a9 2 5 400 fafemm (40 =) @ it Teie s vt B fra d% J R T R B wm e
g7-Tau (W) d 110 Ffemn smieh swer i wh snof) gom s 2 B 800 fafema (50 #0%)
T A gRed) Sl B P R § awd TE g )

Which continent is least affected by COVID-197
(1) Asia (2) North America
(3) Australia (4) Antarctica

HH-T TEEY HIaS—19 T W@ FH TG 520 27

(1)  ©ReEn (2) ol emifER
(3)  em=feEm 4) i

[Question ID = 2054][Question Description = Q48_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8213]
2. 2 [Option ID = 8214]
3. 3 [Option ID = 8215]
4, 4 [Option ID = 8216]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UN's gocio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 hillion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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€t I 21 fiwet ad ¥ sifim A F wfen § cut s % @Y 95 avRE SR H SisH 9o
Hergid # % P 2| A9 T SEE BT A 10 TR AT FH S et o & iR ol weear # el w6
T SEET W IS U8 W 3| g A8 TR TR e ¥ FE T 2, T Th SUEE
amtfaw-alls @z ot 21 3@ = waw oAl ow waite ) e fammewr @t onfie eii
TeHifas THE ugd T 3 A o an w1l I wH o 21 4w ug = g snfe afemfi
(ferarll) 1 3 w1 31 ot wF afiehl cd e AR @ R, WY B AR FIva Tne we F Wear ¥ 99 @
@ wedt qedl @ i 3@ W B o 7 Atew oedE agiEe FEeE % owE W o 9 @ Wik
Aok % ged | s R g 31 ' T ar st Asfen o e e w €1 o 72 war R oot
w6 AR ael] wie i folt e §if Tt % ded ofik wug-az wrlt W 21 ol aw wmed W
a9 2 5 400 fafemm (40 =) @ it TeiE s v &) faza 9% 3 R A 2 BT e
g-Ta (W) # 110 Ffemm smieh swen F wh snof) gom sifimm 2 5 800 fafma (50 #U%)
AT AT g el W U e § g E g )

Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC

=1 4 @ 5w 5o 3 UN it amnfas et afamta (o) T 1 9903 wem e 8 7

(1) UNDP (2) UNICEF
(3 UN-GHRP @) TUNSC

[Question ID = 2055][Question Description = Q49_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8217]
2. 2 [Option ID = 8218]
3. 3 [Option ID = 8219]
4. 4 [Option ID = 8220]

?) Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social. economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery.
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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ot Tt R1 fimet ad % sifm Bt o wRen § sk sgwa % @y o arrE Sl W sis v
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Fe G BP0 weT ot Fivi g gidt Tl S siest iR wag-ae @relt 9 21 siaddm am geA

s 2 55 400 fafemm (40 =) @i i TiE S EEd B T AR S R At R m e

g-Ta (W) # 110 ffemm smieh sen F wh snof) gom sl 2 B 500 fafema (50 #0%)

AT A e SEat B @ AR § wwy 6 g ma)

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?

(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

Hifas-19 % e § frefafga § @ B @At/ afaem F &g g 3 as@ w0 q9rEA ge e

(1) 7= 33 (2) e it e
(3) Tttt gfaee (4) W afiEm

[Question ID = 2056][Question Description = Q50_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4. 4 [Option ID = 8224]




